
Table 3. Association between treatment with invasive mechanical ventilation and p-chlordiazepoxide 

 No invasive 
mechanical 

ventilation (n=18) 

Invasive 
mechanical 

ventilation (n=8) 

Median difference 
[95% confidence 

interval] 

P-value 

P-chlordiazepoxide 
(µg/ml) at Tinclusion 

11 (8.4-17) 6.9 (3.6-14) 4.7 [-2.9-11] 0.26 

P-chlordiazepoxide 
(µg/ml) at T12H 

9.8 (6.1-14) 5.3 (2.6-9.0) 3.9[-1.7-10] 0.20 

Tinclusion: Time of inclusion in the study. T12H: 12 hours after inclusion. Median (IQR). Mann Whitney test. 

 

 

 

 


